
Time: 30 Minutes Paper Math 8 (T-1) Total Marks: 25

2nd Month, 4th Week, 6th  Day Monthy Test subdomain (iv, v)

Q.1. Choose the correct options.        (1 × 6 = 6)   ŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,XXXX
(i) If a is not a member of the set A, then symbolically it is denoted by:

»»»»ggggÁÁÁÁ7777ììììÂÂÂÂZZZZÐÐÐÐ´́́́ääääîîîîgggg6666,,,,˜̃̃̃÷÷÷÷:::: AÃÃÃÃLLLL a ZZZZ¤¤¤¤////
(a) a∈A (b) A/A (c) a∉A (d) a∩B

(ii) Which of the following is not a set? ZZZZyyyy~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚ÃÃÃÃLLLL7777ìììì????

(a) {1,2,3} (b) {a,b,c] (c) {2,3,4} (d) {1,2,2,3}

(iii) A set Consisting of all subsets of the set A is caled:

ÆÆÆÆÓÓÓÓxxxxááááÒÒÒÒVVVV6666,,,,ŒŒŒŒƒƒƒƒÔÔÔÔBBBB@@@@****ìììì:::: A ZZZZ((((ÃÃÃÃLLLL����ÃÃÃÃLLLL

(a) subset áÃL (b) universal set -EgËÃL

(c) power set 0*zgÃL (d) superset 4ÃL
(iv) If U = {1,2,3,.....10} and A = {2,4,6,....10} and B = {1,3,5,.....,9}, then

{A–B)c is equal to:

'''',,,,ZZZZ'''',,,,ƒƒƒƒ@@@@****ìììì:::: {A–B)c ƒƒƒƒÂÂÂÂ B = {1,3,5,.....,9} ZZZZzzzzgggg A = {2,4,6,....10} ZZZZzzzzgggg U = {1,2,3,.....10} ZZZZ¤¤¤¤////
(a) U (b) B (c) A (d) φ

(v) If P (A) = {φ,{a}, {b{a,b}, then set A is equal to

'''',,,,ZZZZ'''',,,,ƒƒƒƒ@@@@****ìììì:::: A ƒƒƒƒÂÂÂÂÃÃÃÃLLLL P (A) = {φ,{a}, {b{a,b} ZZZZ¤¤¤¤////
(a) φ (b) (a) (c) {b} (d) {a,b}

(vi) Product of extermes is equals to: §§§§@@@@»»»»qqqqÝÝÝÝ¢¢¢¢[[[['''',,,,ZZZZ'''',,,,ƒƒƒƒ@@@@****ìììì::::

(a) direct proportion ÚƒgZ„ (b) inverse proportion Úƒwk

(c) product of means z^Œ4èGE»qÝ¢[ (d) division of means z^Œ4èGEÅ„

Q.1. Answer the following Questions.    (2 × 7 = 14) ŠŠŠŠgggg̀`̀̀ffffssssÎÎÎÎÑÑÑÑ]]]]ÆÆÆÆ����ZZZZ[[[[ŠŠŠŠ,,,,XXXX
(i) Convert Rs. 70.000 into Turkish Lira. (1 Turkish Lira = Rs. (12.24)

ggggzzzz9999(((( 12.24= FFFF,,,,ÅÅÅÅ8888ZZZZ 1 ggggzzzz9999ÃÃÃÃFFFF,,,,ÅÅÅÅ8888ZZZZ~~~~ppppssss™™™™,,,,XXXX)))) 70,000

(ii) The marked price of an article is Rs. 3000. Discount on this article is

20%. Find the selling price of the article.

°°°°œœœœììììXXXXZZZZkkkkÅÅÅÅ7777����ÛÛÛÛzzzz||||####¥¥¥¥xxxx™™™™,,,,XXXX 20 ggggzzzz9999ììììXXXXZZZZÏÏÏÏqqqq6666,,,,eeeeeeeeîîîî....$$$$ 3000 ZZZZqqqq----qqqqÅÅÅÅŠŠŠŠgggg̀`̀̀””””{{{{7777

(iii) A man died leaving a saving of Rs. 72,000 in the bank. Find the share of

each: widow, one son and one daughter.

ggggzzzz9999ÅÅÅÅYYYYgggghhhh™™™™%%%%ZZZZZZZZqqqq----çççç{{{{ÔÔÔÔZZZZqqqq----ggggCCCCZZZZzzzzggggZZZZqqqq----eeee~~~~CCCCÙÙÙÙZZZZqqqq----»»»»zzzz¥¥¥¥xxxx™™™™,,,,XXXX 72000 ZZZZqqqq----WWWWŠŠŠŠòòòòJJJJ~~~~

(iv) The marked price of an article is Rs. 3000. Discount on this article is

20%. Find the selling price of the article.

°°°°œœœœììììXXXXZZZZkkkkÅÅÅÅ7777����ÛÛÛÛzzzz||||####¥¥¥¥xxxx™™™™,,,,XXXX 20 ggggzzzz9999ììììXXXXZZZZÏÏÏÏqqqq6666,,,,eeeeeeeeîîîî....$$$$ 3000 ZZZZqqqq----qqqqÅÅÅÅŠŠŠŠgggg̀`̀̀””””{{{{7777

(v) Identify te pattern and complete the sequence. ™™™™,,,,XXXX ððððyyyyÅÅÅÅÙÙÙÙ||||####™™™™,,,,ZZZZzzzzggggFFFF,,,,KKKKMMMMåååå
1. 77, 66, 55, ___, 33, 22, ___. 2. 50, 100, 150, ___, 250,  ___, 350___.

(vi) If 15 men take 85 days to build a wall, how long would a take for 10

men? Also draw its graph.

WWWWŠŠŠŠòòòòÄÄÄÄŠŠŠŠââââVVVV~~~~yyyy™™™™,,,,ÐÐÐÐ????ZZZZzzzzggggZZZZkkkkÅÅÅÅ¤¤¤¤////ZZZZssss{{{{ÆÆÆÆXXXX 10 ŠŠŠŠââââVVVV~~~~ZZZZqqqq----ŠŠŠŠ----ZZZZggggyyyy™™™™DDDD÷÷÷÷ 85 WWWWŠŠŠŠòòòò 15 ZZZZ¤¤¤¤////
(vii) At what annual rate of price would amount of Rs. 5,800 will increase to

Rs. 7,105 in 3 years, time?

ggggzzzz9999ƒƒƒƒYYYYññññÏÏÏÏ???? 7105 ‚‚‚‚wwww~~~~((((,,,,||||™™™™ 3 ggggzzzz9999ÅÅÅÅgggg¶¶¶¶ 58,00 oooo««««ÅÅÅÅ‚‚‚‚ÑÑÑÑ::::ÑÑÑÑbbbbTTTT6666,,,,
Q. 3.Abdullah's exercise trainer suggests jogging for 10 minutes each day for

the first week. After each week, he suggests to increase that time by 5 minutes

per day. At 6th week how many minutes will he jog? (5)

4444JJJJ---- 5 4444YYYY%%%%»»»»ttttgggg{{{{ŠŠŠŠïïïï÷÷÷÷CCCCÙÙÙÙ‹‹‹‹ÆÆÆÆˆ̂̂̂ZZZZkkkkzzzz‰‰‰‰ÜÜÜÜÃÃÃÃ 10 ZZZZ8888‚‚‚‚^̂̂̂,,,,RRRR,,,,²²²²¬¬¬¬‹‹‹‹ÆÆÆÆaaaaCCCCÙÙÙÙggggzzzziiii ]]]]ÖÖÖÖ××××####ääää ††††

((((,,,,JJJJääää»»»»ttttgggg{{{{ŠŠŠŠïïïï÷÷÷÷XXXXzzzz‹‹‹‹~~~~zzzz{{{{ÄÄÄÄ4444YYYY%%%%™™™™}}}}ÇÇÇÇ????
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